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FeEREYERX

HE-_TETRF+_A=+—ALEFE

BAARASEAELES
BET R RENE SEEH ENND BRRS SERR  BRAK
RE RER SARG EfiffE HE  HE FSEN RS  #E 2 Ex  AF
i3 Tér ThAr TAT TAr Fhrx Thrx ThErT TAT TAr Fhn Tix
(i i#26(a)

RZZENE—-A-H 49,050 54,052 286 1,036 15501 448 208,326 7,358 336,257 304 336,561
EffEH 14 = = = - 4575 = = - 4575 - 4575
R ks = = = = = (246) = = (246) = (246)
EERREERZ
FEWARRY2E
(RERERER) = = = - 4575 (246) - - 4329 - 4329
EREF/ (3ER) = = = = = - 51,208 - 51,208 (304) 50,904
EERARRS 2 = - - - 4575 (246) 51,208 - 55537 (304) 55,233
BER_ZS=FXIRE = = = = = = - (7,358 (7,358) - (7,359)
—ETRERHRE 12 = = = = = - (17,168 — (17,168) - (17,168)
BE-ZENEXHRS 12 - - - - - - (98100 9,810 - - -
RZZENE
tZA=t-8 49050 54252 286*  1,036* 20,076° 202" 232,556° 9,810 367,268 - 367,268
R-EER%E-f-H
RENER 49,050 54,252 286 1,036 20,076 202 232556 9,810 367,268 - 367,268
HNHE 24 - - - (1,0%) = - 10% = = = =
BES 49,050 54,252 286 - 20,076 202 233592 9,810 367,268 — 367,268
EffEH 14 = = = - 10,805 = = - 10,805 - 10,805
ERAZ = = = = - 2521 = - 252 - 252
ERNRARR
EERARRT S
(BEURRER) = - - - 10,805 2,521 - - 1332% - 13,32
FERLF = = = = = — 48,004 - 48,004 - 48,004
FEWARRZRE - - - - 10805 2,521 48,004 - 81330 - 61,330
BEER_SEMERAKE = = = = = = - (9,810) (9,810) - (9,810
BE-ZTREXAHRS 12 - - - - - - (19,6200 19,620 - - -
R-ZZR%+-A=t-H 49050 549252 286" —* 30,881* 2,723 261,976" 19,620 418,788 — 418,788

* HEREREEGAEEABR ZEA 350,118,000/ T (ZZZ M4 : 308,408,000/ L) °






